
 1
13

 

 100 

DB-Killer N°32B
Cod.307762801

 
i.50 

 
e.50

 

 
i.4

1,
5 

 
40

 

 9,5 

 300 

A

Medium silencer
NERO Øi 50
Cod.3014009471

Allen screw
M8X80 T.C.E.I.
Cod.203328

Aluminium Spacer
27/20X60X8.5
Cod.206376

Aluminium spacer
SBK SBK Ø27X8.5 
Cod.204321

Pipe N° 1126
Cod.3014037203

Strap in stainless
steel Ø43
Cod.300043530

Short helical spring
tensile
Cod.303949001 Allen screw

M8X20 T.C.E.I.
Cod.200722

2 screw
M6X20 T.S.
Cod.200261

Plain washer 8x17
Cod.200294

2 Knurled collar 
nut M8
Cod.200298

Silencer bracket-
stainless steel
Purch.Cod.206333

2 Plain 
washer 6x12
Cod.200291

2 reinforcement2 reinforcement

 4 

DETAIL "A"

Use the indicated hole 
to secure the brake light 
cable using a zip tie 
(NOT SUPPLIED)

Art. 14037

KTM DUKE 390  

Slip-on  "NERO" -   APPROVED


	Model
	Vista del disegno13
	Vista del disegno16
	Vista dettagliata A (2 : 4.5)


